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Directions Qs.1-4:- Mark the correct synonym, out of the four choices given, of the foﬂowmg words -

1.

4,

Overwrought . o
A)Tense B) Empathe_tl_c : C)Oppressive . D) P_repostero_os -
Mannequin:- _ s o L
A) Mannerly B)Dummy . .. C)Materialistic - D)Massive =
Pontifical:- S T R
A) Supporti_ve B) Predominant ':' ':C_) Doct_rjnaire_ el D) Potential
A)Cautious - - B) Occupatlon C) Selzure TR .-';-D) Recovery

Directions Q. No. 5-7: Mark the correct meanmg of the nahcrzed :dloms/phrases used in the followmg
sentences out of the four choices:- . .

5.

. The High Court has set aside the decree of the Iower court.

A)annulled . B) reinforced - C) condemned D) apprecnated
Karimuddin pulled through the exammatlon

A) did not appear at B) passed wrth dlﬁ' culty C) became ill D) created drsordcr

. Kirat has Imacked about the w0rld a great deal R
CA)wastedhistime - B) condemned the world s I
Q) wandered about . R '_ : D) exposed hlS mnermost feelmgs 1o others L

Dlrectlons. Q.8-10: Choose the correct preposmon, out of the four glven choloes, to be ﬁiled in the gaps.
of the following sentences:- A . :

8.

10,

11,

ety
5
s
.

18.

. _Afteralong dlscussmn, he wrilcome round OUr views. : E e
cAyat oo S Byin e P C)of SR D)to
';_:'Thousands of people inthe vrllages were eamed by plaguc Iast year SR ST
"'--_'A)off SR B)m S C)of D)from
_ _-_Ifeelquatedone oW, L ' He
oAby B)up o PR 'C)_at_f_.__-__ FRR _---I_))from_-_ TR
* Washing soda is the common name for SR PR
- A) Calcium carbonate N PR - B) Calcium bicarbonate - * o o0
Y Sodlumcarbonate A '_.D)sodiumbieeroonate___'_ S R
‘Red blood corpuscles are formedm . S e ST
~A)Liver - :B)Small intestine . -~ ;'C)Krdneys ' 'D)Bonemarmow . -

_ _"-Gortrelscausedbythedef'olencyof ' e G e T
o A)Zine B)Ch!orme Ll :_C)Ilon oo - Dylfedine oo
.Thesc:entlﬁcstudy of ageing is knownas - Sl

- A)Etiology B)Ge:antology L :'. C)Osteology __'D)T_e_rato]ogy Lo
'_-.mwhlchlanguage did Buddhapreach? e
_'A)Pah AR B)Prakrrt S e C)Brahmr ._'D) Sanskrnt Z_
~Who among the followmg Mughal rulers was i gnorant of the art of readmg & wntmg?
- A)Babar . B) Humayun Ny C)Akbar . D) Jehangir .
The theory of economlc drain of' Ind1a durmg Brmsh 1mpenal|sm was propounded by
: A)MK Gandhl B)Jawaharlal Nehru - C) Dadabhal Naorop : D)RCDutt _
" Who declared ‘The only hope forlndta is from the masses The upper olasses are phys:cally and N
comorally dead™? o e T s
A) Mahatma Gandhl_ Genin : B) Gopal Krlshna Gokhale i I

C) Swami Vivekananda D) Bal Gangadhar T:lak




19.

20.

21

22.

23.
o

" 25,

2%.

s
S
30,
31,

3.

3.

Who was the first speaker of the Lok Sabha? :
A) Malgaonkar . - B)P.Upendra

C) Anantha Sayanam Ayyanagar 8 D) Hukum Singh
Lt
What is ‘Zero hour’? ' 5

A) When the proposals of the opposrtlon are considered

B) When matters of utmost nnportanee are raised

C) interval ‘between the morning and afternoon sessions . -
D) when a Money Bill is mtroduced in the Lok Sabha

The basic regulator:,r authonty for mutual funds and stock markets lies with the

- A)Government of India .~ - ; . B) Reserve Bank of India
- C) Securities and Exchange Boand of]ndra D) StockExchanges
‘Which of the fo]lowmg does publtsh World Investment Repon"? e S :
A)WEF o B)WTO. C) GATT . . D) UNCTAD
CENVAT is asso(:lated wlth SR - L
*A)Rate of indirect tax .. oo B)Rate ofmcometax SRRE Ly
C)Rate of direct tax - BRSO D)Noneoftheabove ST
- Which of the followmg has been appornted as brand ambassador of the GUJarat StateElectlon o
: '.Comm:ssron B e e
. A)Amltathachan R R IEI E B)Cheteshwar Pujara B v
- C)Ravinder Jadeja . - T D)Irfan Khan S
* World Day against Child Labour is celebrated Ol BN
~A)Junel2 - o B)lunel6 O June 20 D) June Il

Malaia Yousazai fought for gitls’. edueatlon in Swat valley against the ‘Taliban and was shot in .
‘head by Taliban militant. Her brrthday was deciared as Malala Day by UN General Secretary Ban
‘Ki-Moon. The first Malala Day was observedon; - - o
S 'A)July 12,2013 . - B)October 9,2013 : C) Septemberl] 2(}]3 D) Aprrl 12 2013 R TSt

2

Bermuda Trrangle extend upto whlch of the followmg p!aces'?'

: 1. Southern Florida . - 2, PuertoRico .7 3. Hawau]ﬂands :_.-ﬁﬁf.---_{

Which of the statement(s) given above is /are correct ; _- i
A)i,2 and 3o B and 2 only o C) 2 and 3 only D) 1 and 3 only

-~ For whsch sport is the Vai Barker Cup awar ded in the Olymplc Games? -
A) Swrmmmg S B) Boxmg 0 Long Jump S D) H:gh Jump

~Acid rain is caused by the po]lutlon of envnonment by::

A) carbon dioxide and nitrogen i ~B) earbon monoxrde and carbon droxrde

- C) 0z0ne and earbon dioxide . . - Hii D) nitrous oxrde and sulphur drox1de
Whois at present the Forergn Secretal y of Indla? ROE S Bl SR
A Su;atha Smgh -; B) Manorama, Smgh 26)] Amna Sharma o D) Aruna Ra1 T
“Celf’ is related to ‘Tlssue in the same. way as ‘Tlssue is related to L =
- A) Object R “B)Ear. @ oo C) Organ D) erb

_ "'Choose the word from the given alternatlves that shows the same relatronshlp as is found between .
- the two words to the right ofthe srgn S Sy : RERRERRE S

~ QPRS:TUWV:JIKL:? G e -
- ANMOP . B)NMPO C)MNPO o D)MNOP

: : Three of the followmg are ahke in a certam way and S0 form a gloup Wthh IS the one that does B
“not belong to the group‘? e U Ao
: A) Volume e B) SIZG - ._ e C) La[ge - '_ ¥ o D) Shapc = :j. G
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34.  Three of the following four are alike ina certain way and so form a group. Which is the one that
does not belong to the group?

A)62 B) 42 S &) ) 73 ‘D)110

35. In a certain code language, ‘BAT" is written ‘YZG’, How wr!l ‘SICK’ be written in that same
code?
AYHRYV B) HRZP : ) HRXP _' ' D) RHPX

36. In a certain code language ‘min fin bin gin’ means “Trains are always late’, ‘gin din cin hin’

.means ‘Drivers were always punished’, *bin cin vin rin’ means ‘Drivers stopped all trams’, ‘din
kin fin vin® means ‘All passengers were late’.. TIRY
In the same code, *hin min kin® would mean: R :
A) Always late train - B)all passenger trains

_C) Passengers are late .m0 D) Passengers are pumshed

Dlreetlons 0. No. 37 to 39 Read the pattern of words/numbers and fmd the mlssmg term from the gwen o

alternatives: : . e _ . : s

37.  1AZ, KEB, ?, OOF, QUH S _ ' : '; BT o
A)MDD B)yMII . C) MIO : “D)MID

38. 419,738,639, ST
K650 B) 659 c)759 '_ D

39.  4,16,36,64,7, 144 - |
A8l B)% oo Dy

40. Ravi walk 8 mt, North Hast and then 6 m South East Whal is the straxght hne dtstance between

* - the starting point and end point? B :
A)y10mt L oB)l4mt C)Tmt _ E D)th

41, -1f°P +Q’ means that P is the sister of Q, ‘P Q’ means that Pi 1s the mother of Q, ‘Px Q’ means
" that P is the brother of Q, ‘P + Q” means that P is the father of Q Whtch of the fotlowmg means _

- that M is the maternal-uncle of R? .~
-A)MXT R - B)M TX.R C)M‘F'T K R D)M N+J

42, "Poonam said to her friend, “Yestetday 1 attended the blrthday party of the son of the oniy son-in- .
- law of my mother’s mother ” How is Poonam reiated to the man, whose btrthday party she -
- attended? | SRR .
_ - A)Niece ' B) Daughter " C) Slstel D)Mother '
43, . In the follong sertes, some letters are missing whlch are gwen in that order as one of the
~ - alternatives below it. Choose the correct aitematave. Vil S .
a—bec-a—beda—ced=bed = FES N :
~A)bdbeba - - B) daabbc - C) adbbad D)adabcd o
'.Dneetious for Q. No.44 to 46 Read the followmg mformatlon carefutiy and answer the questlons given
betow R SR
: A1) Etght rooms P Q, R S T U V and W a:e located adjacent to one another in two dtﬁ'"erent S
- rows with four in each row, : s o
- (iiy Doors of the rooms of one row open into the doors of the rooms of another row.
C(iiiy Noroom of consecutive Aetter is either adjacent or opposrte to each other
" (iv) P and Q are the rooms located at the end of two different rows. . =
(v) Risjustieftof Tandis Iocated in the Same row m whtch P is Eoeated
C(vi) Uis justleft of Q. -

44. - Which room is opposite to P? AR L R _' AR :
COUAYS B)U _ SOW D)Noneofthese_
45. . Which room is dtagonaliy opposite to, S‘? e S
A)Q SRR B)W Cosl e Qv TR D)Noneofthese
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46,

47.

48,

Which of the following room is not located at either ends? :
A)Q BV 0)S . DyW

How many parallegorams are there in the ﬂgure gwen below?

- 'A)14 w1 OB R

The ratio between the present ages of Raw and Vmay is 7: tS respeottvely Two years from now,
Vinay’s age will become twn:e the age of Ravi. What was the dlffelence between thetr ages five
years ago? e .

A) 13 year . *_ B) I6year _' C)]l year _ D)18 year

Dlrecttons Q ‘No. 49-50: 120 candidates appeared in an examination in. three subjects Enghsh (E),
Science (S) and Maths (M) The number of cand1dates who falled m B S and M are shown tn the"-'-' :

- following dlagram e
49, . Find the number of candldates who fatled in atmost one subJect HEREPE IR
S A)90 o B) 110 - -C)60 . D)8
50, '_Fmd the%eandldates who falled in atleast one subject e SRR o
C U AY60% CBYS0% oo C)83 3% i -D)Noneo_f_:abo\._re.--_ o
5o Whtchofthe followmg is notacurrent asset? L AR ST .
o .'_'A) Recewabies i B)Inventory.. .o :_C) Prepatd expenses '.D)Pre_limin_a_r_y expenses : - o
52. . Cash flow statement is prepared under ' ' ' 0 B o
LAY Accountmg Standard-1 - @ S -B) Accountlng Standard -2
S “C) Accountmg Standard —3 GRS _:: D) Aocountmg Standard -4
.53, "Personai expenses are not 1ec01ded as per ;-:-
. :A) Money Measurement Concept - _B) Cost Concept SR
.~ C) Business Entlty Concept SR :'i'. ':D) Conservattsm . :' o '
54, 'thh the mmease in output perumt ﬁxed €ost oo R
o )mcreases B) Deereases C) Remams Constant D) Rando_mly fluctuates - SR
- 55, ._._:'.Whtch 1sacorrect sequence? i N
~ . .A) Ledger — Journal - Trial Balanee P&L A/e Balance sheet s
~B) Subsidiary Books — Journal — “Trial Balance — P&LA!c Balance sheet
~C) Journal - SubSIdtary Books — Trial Balance - P & LA/c Ralance sheet :
. D)Joumat - Ledger - Subsxdtary Books ~P&LA/c Trla!Balance
56. - Goods worth =\"5000 lost by fire will be_ S A ¥

A) Debited to P & L A/C and Credited to Tradmg A/C

'B) Credited to P & L A/C and Debited to Trading A/C . Dl
C) Debited to Assets and Credited to Trading A/C - -
. D) Deblted to Assets and Credtted to P&L A/C
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57.
58.

59.

60.
61.
62.
63,
64,
65.

66.

67.

Which of the following is a Real Account?

A) Debtor’s Account L B) Building Account

C) Creditor’s Account - o D) Rent Account

Working Capital refers to the S R
A) Capital invested by the owner -~ = .- B) Fixed Assets - Current Assets .

C) Current assets - Current liabilities - v D) Capital —Drawings - - '

Increase in working capital will be

~A) Shown in sources side of Fund flow statement B Cn
_'B) Shown in application side of Fund flow statement L '

C) Added to calculate fund from operatiopy S
D) Deducted o calculate fund from operatton LR

_ LIFO method is surtable incase of

A Inflation . - B) Deﬂatton C) F]uctuatmg Pr ice . D)_'_Constant_ _Pri.ce"' L
~Out of pocket cost mvolve payment to i R R
“A) Sole proprietor - B) Employees R T C) Outsiders SRS ..D) Partners e
Bin card is a record of .« RN EEEEEEE -

' A) Cost .~ B) Vaiue S C) Quanttty e )Expense

< ‘Re- ordermg level is computed through multrplymg maximum pertod wrth i
A) Maximum consumptton R B) Minimum usage -

- €) Average usage NS SR St D) Re-order quantity

- In contract account, prot‘rt is not transferred to P & L Alcif certrﬁed work is less than

- A)20% of contractprice - s 0 B) 25% of contract prrce '

g _'_C) 33.33% of contract pnce ETERATEPRC AN f. D) 15% of contract price R

~The difference between ﬁxed and vartable cost is of special srgntﬁcance for. preparmg AR
- A) Master budget - -B) Sales budget SRS 8 Cash buclget _ D) Flexrble budget

-_Bank Reconcrltatton Statement is astatement s - S
A) Prepared by customer to verify cash book balance wuth the bank statement balance 5

'~ B) Prepared to verify the cash book - . . : : .

"C) Prepared to verify the pass book I

- D) Prepared by bank to verify the cash book SRS

' The total of debit stde of dtscount column in cash book represents O [
- A) Excess of Discount allowed over discount received :

B) Excess of Discount recewed over dtscount allowed
C) Total of Discount allowed o .

-1 D) Total of Discount recewed

68,
0.

Z.Whlch of the fotlowmg statcments 1s conect‘? 'f S

A) Assets - Capital = - Liabilities - =:B) Assets+Cap|tal Lrabtlrtres

| “C) Assets + Proﬁt = Llablhttes _' D) Assets Prof t = Lrabrlrtres
~ Gross profitis - B : R
-+ ~A) Net profit less expenses of the pertod B) Excess of saies over cost of goods sotd
- C) Excess. of sales over Purchases i D) Net proﬂt plus mcome of the pertod T o
I sales of XYZ Ltd is 40000 margtn 20%, average stock rs Rs 4000 what wrll be the stock
* . turnover period - B i
: 'A)6ttmes Lo B)Btrmes i C) l2trmes D)2t1mes 3_ (R
“In case of fixed capltals accounts, partners shares of proﬁts wrlt be ' : A
L A) Debited to partners’ capital accounts B Credited to partners capltal accounts

C) Debrted to partners current accounts '_ - D) Cred:ted to partners currentaccounts R E R
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72.
73.

74.
75.

76.

77.
78.

7.

80.

81.
.

83,

gs,

86,

Prime cost does not include

A) Direct labour : B) Factory overhead expenses
C) Raw materials consumed D) Direct Expense
At economic order quantity ‘ aon
A) Ordering cost > Holding cost -~ -~ B) Ordering cost < Holding cost
C) Ordering cost = Holding cost - . D) Ordering cost # Holding cost
Which of the following is not calculated in respect of material variance? i
A)Cost variance - ‘B) Usage Variance C) Yleld Vanance R D) ldle tlmc Var[ance
If actual loss is less than estimated loss, the dlffeience wrll be - SaD :
A)Normal gain B) Abnormal gain . C) Normal loss - .- D) Ab_n:orm_a__l los_s o
Labour cost variance is the difference between standard cost and '. o g '
A) Budgeted cost of labour - » ... B)Actual cost of labour
C) Estimated cost of labour ~ "1 D) Varrable cost of labour
Which of the foliowing variance is always adverse? . . L PR D
- A) Yield variance - 'B) Idle lime variance - C) Usage vanance k D) Ov_erh_e_aci variance
ldle quick ratiois - : o R . e
A)2: i B)l T C)3:l e D)l 5
- Capital expendrtule represents the - i ER R '
~A) Amount spent for purchase of assets - B) Expenses pald out of capital
- .C) Owner’s personal eXpenses r - - "D) Interest on capital '
Which of the followmg is not used for ana[yzmg financial statements? AT
- A) Trend analysrs w B) Fund ﬂow analysrs C) Ratio ana[ysrs E D) Varrance analys:s .
Under accrual basis of accountmg, utstandmg selling commission wrl] SEta '
A) Reduce Gross profit . - s L BY Increase Gross pxoﬁt_
C)Reduce Netprofit = oo D) Increase Net proﬁ
" Which of the followmg is not used in mﬂatlon accountmg? '
- A) Gearing adjustment - . - S B Deprecratlon ad_yustment Sl
) Cost of saies adjustment o D) Share caplta__l_ adjustment L

- -Which of the fo!]owmg is not true‘? SR
- .. A) Accounting information js useful only to the management B - S i
-'B) Under cash basis of accountmg, no . adjuslments are made f‘m outstandmg ehpenses and :

accrued income

- C) Accounting is the Ianguage of busmess _ S : : SR
D) Depreciation accumuiated over few years followmg strarght ime method iS mole than that SR

calculated under dlmlmshmg balance method

Payment by debtors will - R ' : i

A) Increase total assets - .. - B)Reducetotai assets QST RN
C) Increase total llabihty RIS +D) Will not affect total assets or tota[ habllll)

. Goods withdrawn for personaI use should be recorded by

" -A) Debiting Dr awings account and Cr editing Purchase account
-+ . B) Debiting Purchase account and Crediting Drawings account .
... C) Debiting Purchase accoynt and Crediting Capital account '

D) Debrtmg Cash account and Ctedmng Purchase account

f the deprecrated value of asset costmg Rs, 12000(} after 3 yeans comes at 66000 undel stralght SRE RN
-~ line depreciation, rate of deprecsatlon will be g A

e A)ZS% R B)ES% o 'C)m% D)20%
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87 If the credit balance of bank as per cash book is Rs 20000 and there is a cheque worth Rs 2000
that has been issued but not presented, the balance as per pass book will be:

A) 18000 Debit balance B) 18000 Credit balance
~ €)22000 Debit baiance D)22000 Credtt balance
88. Which of the foIlowmg is not 1ncluded in cost of goods sold? " o
A) Prtme cost - B) Factory overhead C) Selling overhead D) Direct Labour

89, - If the net proﬂt before charging manager’s commission (5% on net proﬁt aﬁer chargmg his
commission) is Rs 378000; amount payable as commission will be . :
A) 10000 B) 18900 - ~ . C)18000 R D) 20000

90.  Which of the following best measures firm’s efficiency? - :
. “A) Current ratio . B) Proprietary rallo Q) Debt equrty ratlo D) Debtor s tumover ratto

91, . Which of the following best descr ibes short term hquldrty‘? e
o 'A) Acid test ratio B) Proprletary ratio “C) Debt equuy ratio D) Inventory turnover ratio

92, - Which of the following may have debtt balance" : :
-+ A) Subscribed Share capital . . B) Workmg Cﬂpltﬁl
- C)Paidup capital LT 5 ~ D) Authorized capltal
.93, The debit balance of returns shown in trial batance should be
- A) Deducted from Debit side of Trading account '_ T
" B) Deducted from Credit side of Trading account
C) Deducted from Debit side of P & L account -
D} Deducted from Credit sideof P& L account

94. . ‘Outstanding expenses ShOWn in tnal balance are recorded in - S S
- v A)Debit Side of P & L account '_ - B)Credit Side of P & L account
C) Assets DA CLE D) Llabllmes '

95 A started busmess wrth a capltal of Rs 50000 out of whtch Rs 20{)00 has been borrowed The e

' - correct entry willbe . - S . . . [

-~ A) Cash A/C Dr. 30000; Capttal A/C Ct 30000 S e
““B) Cash A/C Dr. 50000; Capital A/C Cr. 30000; Loan A/C Cr. 20000 BT
") Cash A/C Dr. 20000; Loan A/C Cr. 20000 - i
D) Cash A/C Dr. 50000; Capltal A/C Cr. 20000; Loan AfC Cr 30000

8 - 96 “The ba]ance of debtors as shown in trlal balance isRs 50000 Bad debts shown in trial balance are

~"-worth Rs 5000; Bad debts shown in adjustment are worth Rs }0000 What w1t§ be the value of E - o

- provision for bad debts, if the same isto be created @ 10%? -

L DAYS000 B)3500 D C)4500 L D)4000 s
S 97. " Which of the followmg is not amanuf‘acturmg overhead" i X
' A) Indirect labour = . 0i0 v U B) Insurance of factory buddmg
- C)Factory Rent - oo 0. D)Direct material LS O
98, A furmture manufacturer requrres smaH amount of glue T he glue used in productlon can be best = '_
Lo ‘describedas o S
'_-.._-'A) Direct matertal : B) Indtrect matertai C) ane cost i o D) Sundry expense SRS
©. 99, - Manufacturing overheads are not known as o ': :
L YA)Office overhead o B) Factory overhead
' C) Indtrect manufacturmg cost D) Burden i

"100. . Excess of sales overbreak evenpomtns knownas R S LR U R SRR
" A)Profit volume ratio . . B) Margin of safety C) Contributio_n_ - D) Profit

Fokkkhkhhhhhhhx
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KEY

Post: Accountant Grade-ll (30.03.2014, Evening Session)

Ans,
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77
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